1.

sy o (2) % I TS gl & & ofr e |

Choose the appropriate figure from the@hswer Figures to replace the question mark ('7)

@@

O @ «dan av

(A)- S Ul © fU . o) [\SE

o 308 (2) F VI RS Splel & v sl e |

Choose the appropriate figure from the Answer Figures to replace the quest:ou mark ('7)

@@SOLIZ#

SVI¥E
| : g
@ @ o _ : _ |
) ) g | e |

ol o/ e . eV
Rt rftar  fore 8, venfee 3 g e 2 . _. 2 _
) B B) WEAPA . (C) FER . (P)
PIANO is to MUSIC, then what is to LITERATURE ? ' Ly 22 ¥ :
(A) CRICKET (B) MICROPHONE =~ (C) ARTIST =+ (D) POETRY
mswmrw '
&) T ' (B) aﬁ O wE (D) &%
Complete the analogy : {} ' Lt e
'Otitis media': 'ear’ :: 'Cataracts’: __ 8 : - R
(A) Bone (B) Kidieygy ~ (C) Bye 1 (D) Lungs

Al )
TR VTR, W 9 FTFEA T B : ©
7 is related to 49, in the same way 9 is related to : R L
@A) 22 ;) /) 05 (©) gy MR 3 3

6. %ﬁ%mwﬁzﬁwﬁﬁtﬁmwﬁaﬂtﬁﬂsoﬁs’mwaﬂtg@a’rmm%qﬁmﬁ‘gsm@%
: i T8 Ll AT f e g e &Y
(A) im ®) X ©) R L O
Which Way would you face now if you turned 180 degrees to the left after starting by facing south ?
(A) West = (B) North : (C) South ~ ° « (D) East
AT . N~ AT o e e AR B |
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7. TR TRy s o Wi ke - St 3 i e gwiare |
20000 5600
15000 | 1
000 10000
10000 6000 8000 7000
5000 I_|
0
] Q
O R @ LS e
nﬁﬁqaqmaﬁﬁnﬁaa%mq@% 15% mﬁhwéﬁm%mww 10% H FT AL,
Y AT 3y AT % T T | - gt Dok
A) 2.5% B) 28% (©. 30% D) 3.5%
The given bar graph shows the marked price of five c@‘erent products in a showroom.
20000 ® '
15000 | 13000 |
10000 8000 090 10000
5000 5000
0
0 &‘w & @6 S
v AR
& a
‘-'ith
O3 Marked Price (3)
If the marked price of the laptop is 15% more than cost price and the shopkeeper offers a dlSCOllnt of
10% on the marked price of the laptop, then find the rofit % of the laptop.
(A) 2.5% (B) 28% @ 30% ©) 3.5%
8. IRV, 3T TSI TG & | 37 1 o o 36 s & 5 el Seufgm F A o F W V125 km E@ AR
ST ST S 30T 35 S0 § ke SRR 2 | 37601 3 S 37 5 o P R 2 2
(A) zRmrafim (B) Iwulm ©) o @O W‘ﬁ‘
Arun wants to go to Anu’s home. Anu’s home is 5 km North-West of Priya’s home which is
+/12.5 km East of Tharun’s home. Tharun’s home i is 5km North-West of Arun S home In which direction
is Arun’s home from Anu’s home ?
(A) South-West (B) North-West C) South-East’ (D) North-East -
9. fFrefeied wg i, sue Ru T yee ¥ g SR I Mg RU MR | mﬁ%@wﬁﬁnmw%mﬁw
JUNT T TE ST S Wl | 39 T8 1 @ |
fear T ¥res : "INDEPENDENCE" O ‘ G
(A) NEEDED' “" '(B) INDEED (C) PEENAD. (D) DENIED
In the following question, you will find four other s provided alongside a given word. One of these
words cannot be formed using the letters of the given ord. Identify that word i
Given word : "INDEPENDENCE" : Jlaobers oiont
(A) NEEDED (B) INDEED (C) PEENAD (D) DENIED
AT T e ST R S R
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10. :}ﬁ%ﬂwﬁqmmﬁmﬁqﬂmwmaﬁmwnﬁmﬁﬂmm

FYH

I @ T20 fFde A, O A g s FA T 120 9|

2. TH 60T R am |

fe

1. dm20% R )

2. ETHN % Seoars RS | :
(A) 2 Freapd v e § Q' (B) ¥ freed 2 srgEEOT AR
(C). T faed 1 el & fwwd 2 cﬂgatnﬁ@% (D) Faw e | :ﬂgmww%
Read the statements and select the best condlubion/conclusions that followsffollow the assumptions mad
in the statements. I it

Statements : ) & s

1. Ina T20 cricket match, the total runs mde by a team were 120. -

2. Out of these, 60 runs were made by spifirier =

Conclusions :

1.  20% of the team consists of spinners.

2. The middle order batsmen were spinners. =~ - |

(A) Both the Conclusions follow “(B) Only Conclusion 2 follows
(C) Neither Conclusion 1 nor Conclusion 2 follows (D) Only Conclusion 1 follows

11, Freforfe & & e war € mé STeenr) & W
M %N IIIM, NFGER| "

M@NFEM, N TeT2 | %

M$N#&IFEM, NF g )

frefafea # & S-arday s, Q # far & a?ﬁaT%'P e

() QSS@P  ®) P@QUS § (O QSP%S (D) Q@S%P

Each of the following questmns pertams to the given information : o
%Nmeanst_thesonofN

M @ N means M is the sister of N.

M $ N means M is the father of N. :

Which of the following represents the relanonshlp "S is the father of Q"? e
(A) Q$s@P ..+ (B) P@Q%S . (C) Q$P%S (D) Q@S%P

12. ; "G", "A", 'HRH’ "N", vrl‘n, urTrl MWW@WGTMWW@ l
Find the word that can be formed using the | "ol AL RN, AT

(A) GRIND (B), TRAIN ,. () GEAR ' (D) NIGHT
13, aﬁam%wﬁmﬁaﬁﬁﬁwwﬁﬂﬁﬁ 0] LT - |
(A) 3 @i g ©®we L )
Clouds are related to Rain in the same way as Air is related to : PO L
(A) Cold “(®) Wam  © wind " (D) Dust
AT e e Wt Pasdd ot ¢ . s o e,
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14.

15.

16.

17.

18.

19.

ﬁﬁmmmmﬁmaﬁtﬁﬁ%ﬁawa@mﬁm|
O — faifmam

_ $ '
O — feem O o s g R
A — ifwan G
vt et safes e TR ST 82 ® _
A) 8§ (B) 14 . © 13 i DY

Examine the provided diagram and respond to the following question.
O —> Employed people

D —> Backward people

A —> Educated peop}g ' i) a8

How many educated individuals are considered bagkward ?. Wy ' 1

(A) 8 (®) 14 Ho 1 @ 17 ' 4
T Tdevr 8, g arE T 6 21 wﬁﬁaﬁaﬁm@wm% 26311‘%51’%&1@@{4?%%%31‘\:29&7&5
B T 35 WATER-T TG & | 36 1T, 14 SAR% stiieh offt i 2t s 3 e vea €, 15 =t
f&dt aitt St ST QAT YRR & EHIER-9 1G4 €, STt 3 &R ST ST YRR 3 GHER-9H 954 ©,
3t 8 =Afeh il YR & FHIER-9 9G4 © | forae & T 6 GHER-TA UGa & 2

In a survey, it was discovered that 21 individuals read English newspapers, 26 individuals read Hindi
newspapers, and 29 individuals read regional language newspapers. Furthermore, 14 individuals read both
English and Hindi newspapers, 15 individuals read both Hindi and regional language- Newspapers,
12 individuals read both English and regional language newspapers, and 8 individuals read all three types
of newspapers. How many people read only regional language newspapers ?. :

(A4) 10 @By 12 O 14 (D) s 8
qHET @ ATl e b 15 ) | :

Find the missing number. - : T

18,1, 17.2,21 : i
®) 9 ® 7 A o (015 D)5

mﬂeﬁ@ﬁml

Find the mssmg pattern. - )

C2D, , C6D4, C58D, C106D . ® st B £

(A) C43D, | B) CGD"-.~ & (© ccp7 - (D) C2C2D

M2 alb=a—b, Tt YT, p=6 3T q=4 BT plq F A HTE ? : ‘

If alb=a—b, what is the value of p!q if p=6 and q=4 ? : | :

(A) 2 (B) 12 (©), 10 (D) 8

%ﬁ??ﬁaﬁﬁﬁwﬂ% ﬁwﬁaw%mwﬁﬁaﬁmwmm%a"www
g7

(A) TS %1 eiforer exl WA e et v (B) ﬁaﬁamaﬁaﬁﬁsﬁgﬂﬂwﬁ%

() i ug ot Sa-t & R Beft ‘(D) Srerforer wewiw s &

A teacher tells her students, "Studying regularly leads to, better academic performance.” What is the
implied meaning of this statement ?

(A) Studying has no effect on academic performance (B) 'Regular study habits i improve grades '

(C) Irregular studying is equally effective (D) Academic performance is random

$0O0L

----------------------------------------------------------------------------
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e fon % 40 e 17 ; ﬁmgmﬁa;\uaﬂtm%lwﬁﬁﬁaﬂwﬂﬁﬁﬁa‘mwmﬁium

20.
T 36T AT 7+ 1 B S & | 7 gt v e g oy A foeredt oft 2
(A) 8t [B) 6= (@) 4= (D) 12 ¥hex
40 litres of a mixture contains milk and water in the ratib of 17 : 3. After the addition of some more milk to
it, the ratio of milk to water in the resulting mixture befbmes 7 : 1. The quantity of milk added to it was
(A) 8 litres (B) 6 litres ()] 4litres (D) 12litres
21. ST I HINT T 20% i FH T e B T 8,000 7 l)ﬁﬁﬁhﬁﬂ i Tlie ¥ TEW T @ | A e
STRFreR S5 i feetormt foheT & 2
A reduction of 20% in the price of rice enables a cus@ner to purchasc 125 kg more for T 8,000. What is
the original price of rice per kg ? @
(A) T16 (B) T12 (C) TIS5 (D) T14
22, 9 TG T 3T 30 R | TRt 5 WS 7 3Ga 25 ¥ 3\ 3ifam 3 oA o it 35 @ | 9 T dEm w4
22
The average of 9 numbers 1 Lﬁ 30. The average of the first 5 numbers is 25 and that of the last
3 numbers is 35. What is the 6™ number ? .
(A) 30 (B) 40 (©) 50 e (Y2000 4
23. A 3R B Y S IR ST T 1400 8, B 3 C A 3t mftes 311 2 1560 8 3 A 3k C ot st wifees
FI T 1440 ¥ 1 T C A wifes A 7R 2 el |
The average monthly income of A and B is ¥ 1400, tha{?f B and Cis¥ 1560 and of A and C is T 1440. The
monthly income of C is ) -3 ' el
(A) T1500 (B) T1400 ©fz1550 (D) T 1600
24. 42 3R 49 Fi TR H THI(LCM) 3R THT(HCEY 6T 7010 F18 2
The LCM and HCF of the numbers 42 and 49 are in thgyratio of :
A) 7:2 (B) 42:1 " (@ 2:7 (D)S 6 -
25. U (TS GHEH =T ¥ =ed g4, 240 Hiet ol 0 mommm%w@mw
I 6 AH0E H UL KL £ | T el i oierd o weht = wra il |
(A) 300, 180fmftier (B) 300, 150 fefyeier
(C) 200, 50 ferfieien | - (D) 360, 216 forsi/eer
A train travelling at a uniform speed, clears a platform 240 meters long in 10 seconds and passes. a
telegraph post in 6 seconds. Find the length of the train and its speed.
(A) 300 m, 180 km/hr (B) 300 m, 150 km/hr
(C) 200 m, 50 kimv/hr 360 m, 216 km/hr
26. 90 femsfiyever it =er & 9 W 35 l-ﬂzwiaﬁiamﬁm %@@:ﬁﬁmaﬂﬁﬁmmm%?
(A) 1.98FE (B) 1.4 ¥Fws 5 TS (D) 1.89FTE
The time taken by a train 35 m long, rungmg at 901 , in crossing an'electric pole is
(A) 1.9 seconds (B) l.4seconds - (@ 5seconds - i (D) 1.8 seconds
27, _@ﬂﬁwmﬁwmmfszmaﬂt mﬁﬁmaﬁwéﬁﬂzmmﬁmﬂﬁm
e A0 2 50 o, At wfRee s 2 ST 7 e <
The average salary of male employees in a firm was 52 and that of female employees was T42. If the
mean salary of the employees was %50, what was the percentage of Ifl‘emalf: employees ?
(A) 20% B)g 88% dp RGP 30% 7 (D) .86% _
28. uﬁﬁrﬁtmaﬂ Loy duemst 3% R e &, 7 24,200 W{Fﬂaﬁﬁm@@ﬂzﬁaﬁmﬁﬁﬁwﬁ
AT - | o
- If the sales tax be reduced from 3 ; % to3 ; %, what difference does 1t make to a person who purchases an
article whose marked price is T 4,200 ? | !
(A) T6 © (B) T7 A (G IS ylsugs 2y re P 0 W
s R e T Page 6 of 24
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. P QIMRAE G 22 2 35 o f s sy s #) 4  a p orefr fh

% 50% 1 3fg N, éﬁr-rq&am’rqgﬁif 20% it T30 A | 0 766 ATH 228,210 % Fem # @
a0 |

P, Q and R enter into a partnership by investing their capitals in the ratio of % g % : -g— After
4 months, P increased his capital by 50%, but Q decreased his capital by 20%. What is the share of Qin
the total profit of € 28,210 at the end of a year ?

(A) T10,140 (B) T10,075 Q (C) ¥83,200 (D) T 97,500

W, AT S R T o T 15 : 1418, o TR 2

The ratio of cost price and selling price is 19414, then the loss percent is

re

go 0, -_ go ’

(&) 163% (B%, 40% O (©) 50% (D) 63% :
10 5 )

al. ; % U agawmaﬂf(LCM)f@?ﬁﬁm-
Lol 100 5

Find the LCM of = 36" 9° 13" ®
1 10 10 13

(A) 4 ® © .3 o0 @)

. 37,500 4 3T ¥ e 29 wfy T it ox & TreRer S A o R |

Calculate the simple interest on ¥ 37,500 at the rate of 2% per annum for 4 years.
(A) T3500 (B) T3000 . () T4000 (D) T5000

3. 72705 280 Tt i r 21 o F g1 weRa €, it e wigeh 200 et e wor dem s 18 o
Ul +
(A) 40TSH B) 48FF {4 (O) 28w (D) 60FEF -
If 72 boys can build a wall of 280 m lengfir}in 21 days, how many boys would take. 18 days to build a -
similar type of wall of length 200 m ?

(A) 40boys (B) 48boys » (C) 28boys (D) 60 boys
3. TSR S T W 4% g 3 R a@ﬁ@ﬂﬁ%m@mmw%aﬁtwm
3596 1 S R 2 | 3 91 o s 3 mu@%%ﬁqﬁmaﬁmﬁl

A tradesman gives a 4% discount on the marked price and gives an article free for buying every 15 articles
and thus gains 35%. Find out by what percentage the marked price is above the cost price.
A) 39.6% ' ; (B) 40.6% i ©) 50% _ D) 22%

35, 27 3R | AR O AT O o Y 14 Rl B g e € | 4 e 3 2 e fiver i 8 A H o
aar&%mﬁ@wﬁwﬁrﬁ?f 600 firera &, it wh wfear i fom forae e =nfe 2

2 men and 1 woman together.can complete a_piece of work in 14 days. 4 women and 2 men togethcr can
doitin 8 days. If a man gets ¥ 600 per day, fdﬂ/ much should a woman get per day ? '
(A) T450 - - " (B) %480 (C) T360 (D) T400

3. it 3 dea S 1 @t R s FTER et awe fo a8 ) ger i g ad 60% 76 T 1 AR
7 St i < 4 20% 1 g e aﬁa’gﬁfa?ﬁ@@ﬁam 3% fia ad @ik mo S A
e TR aREE Y o i

A factory’s yearly budget for the purchase c@mployees protection shoes increased by 60% this year over
last year. If the price of the shoes increased %y 20% this year, then the number of shoes it can purchase this
year is what percent greater than the number of shoes it purchased last year ?

@) 3l 3% ‘(B) 142% 7 () " (C) 48% b il (D) 140%

_---_-_--_.-------..-.,,_,.____.._...-___--_..__.-_-__..-----—--—_.._-..__‘..........,___________......_-.. _________

AUT24 | ' Page 7 of 24
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37. T oo 8 gy o wreht o e 3 7%laﬁﬁqﬁwﬁmsﬂawﬁwﬁ a‘rmaﬂ?ﬁl 37@‘%
® 1 3 gu 3t Wi we wia i |
(A) 15T (B) 11dix (€) 13X (D) 107X
The ratio of milk and water in a mixture is 3 : 7. If we add 10 I1tres of water to the mixture, then the ratig
becomes 1 : 3. Find the initial quantity of milk.
(A) " 15 litres (B) 11 litres - (C) ' 13 litres' ""# 71" (D) 10 litres '™ " *
38. @ﬁﬁaaﬁ%m@%mﬁwﬁmmmﬁ%mnﬁﬂooﬁw%eﬁwaﬁ%mf1000§|
STt & | Y SpeeTTelt T et ot 2 <
The amount of money appreciates to T 700 after E!Jears andto 1000 after 8 years at a certain compound
interest compounded annually. The initial amoul@f money was
(A) T490 (B) %410 5 (C) 430 (D) %470
39, fr=fofiea @ @ faww (sits) 310 Fifsre : ®
Find the odd one from the following : ;
(A) 4096 (B) 4913 (C) 5832 . (D) 3380
40, Pl siwen & sTe we ra i : '
Find the next number in the following series :
220, 221, 229, 256, __ ", -
(A) 10 (B) 280 ©) 312 (D) +320".,;
41 faweq 1, 11, 11 3 IV H @ wt o ofa g Ik gdor XY wrarsmarg )
Choose the correct mirror image from alternatives.], IL, I1I and IV if the mirror is kept at XY.
X
2 5
j » g
@ b
Y @) s
2 o : 0|9 2 2 o]
I J R A ST PR
- @ (B) I OV i D)
42. m@ﬁwwwﬁ%ﬁéﬁ%m@wﬁ%|aaauﬁﬁﬁg%ﬁmmaaﬁa%?
(A) T ®) @@ (©) HH (D) s
Sindhu introduces a man as the son of the%mther of her mother. How is the man related to
Sindhu ? : o i ( -
(A) Nephew (B) Grandson ' g5 (C) Cousin (D) Son
43. THFR 65 km/hr i Rer I1er & AT A R, A 19 ﬁaﬂmaﬁﬁﬁsﬁﬁmmwaﬁm? :
(A) 3% (B) 4% © sa% i, (D) 2%
A car travels at a constant speed of 65 km!hr how long will it take to cover a dlstance of
195 km ? . e
(A) 3hr (B) 4hr (C) 5hr (D) 2hr
N R
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af2 “GREEN” &1 &1 #1g 49 2, a‘r“VIOLET”aﬁt"PmK”%mﬁﬁ%aﬁawmm%? g

If the number code for “GREEN” is 49, then the difference between the number codes of “VIOLET” and
“PINK !S . '\‘ ;J
&) 45 - ®) 33 8 60 NO)BsE ey

y

i mﬁwwmm,mﬁﬂméﬁlmﬁmmmﬁmwm%wm
Rl serEhE SRt t
m%ﬁwaﬁm%|maﬁﬂﬂﬁ@m%|ﬁqm@u@mﬁm|maﬂ§m@mqﬁ
QU & | e 3R Siereie i T | @RS R ks i
37eY el § Y i T @G T ? ®
. W-WRl, I -sewaE, W-gwe ©
9 AT, I - e, T - aftar
3. QW -, O - JEe, T — e
4 & -Tde, SH - afeT, -
St A -0 T & T § 2 |
(A) 133 (B) 233 C) 334 . (D) 23N4 x
Three children, Sam, John and Ann, are eating icecream. Each child eats a different flavour from available §

M.

flavours, namely Chocolate, Strawberry, Butterscotclﬁnd Vanilla.

Sam does not eat Vanilla. John does not eat Stra\%'erry Ann never eats' Butterscotch Chocolate and
Butterscotch are not eaten together. Vanilla and Chodolate are eaten together.

Who eats what flavour from the available options ? ] _ \ '
1. Sam - Strawberry, John — Butterscotch, Ann — @ocolate ' <
2. Sam - Strawberry, John — Chocolate, Ann — Vanlla :

3.  Sam - Butterscotch, John — Chocolate, Ann — Sfrawberry

4.  Sam- Chocolate, John — Vanilla, Ann — Strawbe

Which of the above could be correct ?

(A) land3 (B) 2and3 ) 3and4 ' (D) Zandff_ :

4. 9% 3t e foret e 1Rl (X) wffea 2
Choose the figure in which the question figure (X) is embedded.

e

e

Q
i G N
. N A % BN |
X) 1 n I O
@ ®) m g ®) 1
41, Fmferfaa yaen & snTeft we Jra fifow :
Find the next number in the foilowing series :
140, 120, 90,50,
4) 20 (B) 10 (€ 0 (D) -10
WS e e T e

CamScanner
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PN
\“ : ki .‘\. -’;\\ .rf

aft “GREEN” &1 &1 12 49 ?, @ “VIOLET” 3K “PINK” ¥ G et ¥ st 31 aiatw'%.{-‘ -

If the number code for “GREEN” is 49, then the difference between the :{umber codes of “VIOLET” and
“PINK” is : "

(A) 45 (B) 33 %(:? 60 (D) 55

45, S T, A, ST R T, SR T T ¥ | S T e W 3 & e I G 8, A S,
e, e AR AT | {}. | i e
ﬁqaﬁwﬁm%lm‘ﬂ@éﬁqﬁ@m%@w@mﬂ' T @l | S A S UF Y
@TST & | A ik Sincie i T T GRS ks o R
37Ty faEcal § 4 $F T W6 TaT § ? ® AL, ’

L TR, 9w, w-dwe © . "
2. -GG, S-S, W -af | 0 - Ol I
3. AN - TS, I - Aoie, W - Qe

4 Am_diEde, S -, W -weh

4.

s AR R §7 _
(A) 133 (B) 233 C) 334 (D) 23T4
Three children, Sam, John and Ann, are eating icecream. Each child eats a different flavour from available é

flavours, namely C_hocolatc, Strawberry, Butterscotc@nd Vanilla.
Sam does not eat Vanilla. John does not eat Sn-a\a{?erry. Ann never eats Butterscotch. Chocolate and
Butterscotch are not eaten together. Vanilla and Chodolate are eaten together.

Who eats what flavour from the available options ? ; /,_.f
1.  Sam - Strawberry, John — Butterscotch, Ann — @ocolate A

2. Sam - Strawberry, John — Chocolate, Ann — Vanilla K
3.  Sam - Butterscotch, John — Chocolate, Ann — Sffawberry

4,  Sam- Chocolate, John — Vanilla, Ann — Strawbe’
Which of the above could be correct ?
(A) land3 (B) 2and3 #(C) 3and4 - (D) 2and4

46. % AT AT e w3 ARl (X) AR 2 |
Choose the figure in which the question figure (X) is embedded.

| [BER[E £
x 1 | A 10 O ol
- . ¥ & o
@ I (B) Il @ IV oI ,.
47, ffiifaa sfeen & weft we st A
! Find the next number in the foilow'ing series : i-
140, 120, 90,50, _ ' .5
(A) 20 . (B) 10 ) 0 . (D) -10
AUT24 """""""""" Pagodolad MR o1
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48. YGATFINR __ ¥, ST 3 HH-91 ST 2
In the series F J N R __ which letter comes next ?

AV ®) S | © U “ D) T.

Q
49. . Trfafaa s i o = AT 2 2 By
W
What comes next in the following sequence 1]
B,C,E, G, __ Q
4) H ® 7 8 © v o)k
50. & TS S ™ S 1A AV |
Find the next one in the given series.
HRERESIE
Given series :
o Vs
A > : :
(A) e D) )

s1. Qo srpf A gt i de A |

Find out the number of triangles in the given figure.

) -
@A) 16 ®) 10 ' “‘5 H(C)R201 B0 ) 12
52w o & Fee i (@ §2 L
How many rectangles are there in the chessbm%d ?
®
| (©) 1298 (D) 1000,
AUT24 i a1 ) A

CamScanner
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DHPDQ@ 1

< R e fachet & 8 e sferert 1 owTet e g

Find out the next figure in the above series from the options,

» & &

(A) Il | <B) I R () 1

g4, R fonit 3 Sremm A
Study the figures given below :

Tl

ﬁﬁqwﬁﬁﬁﬁﬂﬁﬂﬁqsﬁwf&qwﬁﬁﬁmﬁr@ﬁmmﬂmﬁm

From the figures given below, choose the figure that will be most suitable to continue the pattern given

@

(D) I

@;v
&
@ 1

above : _
[ II | I & a5 (IV B

@A) I ®@mM - ©Ww Ol 36 .08 3
@ R B W o (© Rew o O w
Complete the analogy : g :
Fish : Gills :: Human : . - S, . _ =
(A) Liver © (B) Lumgs "' (C) Brain ' (D) Heart

s6. Pt o & 2 F A I ool el ot A € 9 ARl -
(A) T ST (B) F=n-+f=r (C)f@g@;rm (D)S!R‘IQIE
Which of the following pairs of words are most similar in m#aning ?
(A) Stop-Go . (B) High-Low , -~ (C) CRY-Smile . (D) Start— Begin

57. m@mﬁ@%m(&m%wwwm 1T 1T R, émsa%sﬂﬁ(@'ﬂ)@rﬂﬁ
ST 3, it OO STET-TE (G- T AR AR gy
(A) aAfTETE - (B) o R () D) S
When a cone is sliced by a plane parallel to its base, but n@passmg through its apex, what is the shape of
the resulting cross-section ?

(A) Hyperbola (B) Parabola (C) Circle (D) Ellipse |
58, TET W FAF IR ¢ TP e 10
(A) TH  (B) W™ (C) T (D) T
AU D R == T ] Page ll0f24. | vcesmlRe. . LeTiL.
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

730

(A) TETSH B FATHF TDBTIAE
(C) WEa St FT HATEATTH T A=ST TH &
frefafea d ye o= 8 :

(A) Pt =afts #i qve Tet firer =R |
(C) 3 A3 dufvr o fewar e fiyemm |

IR T g TR R - : _

&) = (B) W (C) ATt (D) TR
T S T e, R A A e |

T T HAHT ST, W T AT 6 |

T AT W FI-HT HAFRER 2

(A) I (B) 3w (©) W (P ¥F
“forelt <t eI A AT FRWTE T d | o

(A) TEe B) @& |
ﬁmmﬁwzﬂww;ﬁ;ﬁmw%? o, S I%D) e
(A) g fere @mr e ®) vy O

(© ugedrhrEmfa & i guwdt | (D) 5 e dH 2

‘e Yo F1 et wit-fasde g - ®

(a) =+ (B) =w+ffka (), vfa + fifa (D) ¥r=: + e
R et srepTee o1 SR T TR W T v 8 ) T ST 2 7 '
(A) TR - (B) et

©) RaERmrrsasie (D), ST HeEHfe

w R Ea e E |

(A) WA ®) o © dx g)) e
et if & e R j o

(A) ®HE B) W (C) Twam () =

Rt e ¥ R ) e @ ‘ y O

(a) fowsgen ®) frsawr © frgEm @) R
He — B 71 1 e e gAY | ® .
(A) -7 (B) ®AT—dTed (C) w=g-wdt (D) W—‘ﬁﬁf
et — it o2 o1 et ol R : -

(A) WEF-FEE  (B) Wl © stu-wedt (D) iu-wEw
T TG A S " A B AR 2 :

) ®) s Q FEF=.. )
frafefaa & & #i-a1 e am 77t 2 2 B g

A) = (B), & (OF Stk © D) T
Yifeba we F e 6 & g euge A A At 8

T Sft ! ATATH T FA=BTIAR |

(B) nﬂaﬂﬁw%ﬂﬂﬁ%
(D) Wed i ! FeATAH FHBIST IA &

(B) STawTE } e @ f2 |
(D) T et foree 3 amefir am |

-
-
e e T R R R
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4. iy R R

@) T ® QR
7. e ; 5
(A) @R - (B) W™ (C) wem
76, e H R RRivaT S €, IR R FRAE? |
() fRmo (B)_" fopm .O (O frmfoRmm
77, TCEAT TG 1 37 B ; e |
(A) AT ‘(B) FREIL () Seww
78, T H I _ ! B £ | _
(A) e (B) s 9,[ © =i (D) T
g9, g s IR -® f - T =
@) fh ®fm @ gw () dfew
g0. T hmfrmfgeamd: A oy T Ay W
g oga ST G SR | : 5 - N
®) (1) BT o 4 © G) D (-) 4

81, 2020 1 FHITS TR o oI ahT feam 7T 2 e R :
(A) FIIARITS  (B) HiH{O BebT ©) FomEe - (D) AfarrEE

& Fed A sy 0 0 .
(&) et foeaT & @) sifesewbE
- (© b .0 O deEfe -
83. g‘(sniﬂ‘mﬁﬁwaemﬁﬁmw%° L EERE (D
(&) s ®dw @ QR oEm l
s, el o) Femed: @ e i
Rl - (B) THERYET
() FEFR D) e e et
85. ﬁqwﬁﬁﬁﬁﬁﬂqmﬁam@ﬁmﬁmqﬁﬁo R
(A) -3 (B) a3y (0 Af-sFa (D) -
86. ﬁnﬁr@amﬁmﬂqﬁmqﬁqaﬁﬁﬂ@%%ﬁmwmw%l S
T 3 Ty — FerEmiy . tn

@) FEEE @) Tk (O W D) www
§7. Aendde RFmay, O & sk s s 7N
(4) FerdEn ®w QO (© Pemmw (@) e
88, “fast % arenreff e o farferfiae & & B ook wrog el a2 & '

@) @, O (ofie, (0 7@
89, FIGTATNIRL: 4. . g
(A) W (B) =T (C) e . (D) W
AUT24 e Dage 13 0724 R # S SRS~
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q. @ 908 94 TN : _

VT 3T 3Tf ST 21 T < T R | & 1T v s a7 S1mert bt T €T & | T o & ForerT S7are
o A S SR & | TSP 26 & ST 1T R | Tgarer it 27 o) 6 79T & | ST 3 ey Sl o1 e
T T R | o 3 W SRR Y Wiepfi o 9@t Tt § | o o i et ger &) o a &
Afer T ot 1 Wt @, h o 1 30 Y oft B w3 ) et 3w @ a1 s o ot B wadt 2 | Aaifye
e 3 3Tt foet v 3 w0 A € Forfora 1 14 R, 1949 €. Y i 3 wfiver Rt s e B
2 | ofem A g 120%mganmamm%ﬁﬁmﬁﬁ@ﬁmw%|umzlo%aiaﬂanaﬁ%ﬁmﬁm‘i
o1 S -3 T it o e aidsh 3 fovn e 1 e 343 3 st w o o R o
feaf Qe et | < ST <6 Sy e ST < o v ey e R | oy 344 3 et e

&= v v e arftrs e & T} ) 0
90. WW%Wﬁ%&WWWW'&ﬁW?@@%? |
(A) T=ymw ) daufies vy o
(©) HEWE RN LRy @) i wft et o -
91, o st wirar oY ferey save S Y STET ETEAT R 9 ey,
(A) (B) TSt ©) f=h v i (D) T
92,  TSHINT S WITQ TN H & T4 ¥ Hhi-G1 STTGR 78 & 2 4 '
(A) THIRI S ST ] (B) W 2w o e wmaT &

(C) STaT T MTEHTCHe qT I fereh W & (D) e dfifadare
93, Rt v =t wRel wferem # forw AR EE 2 2

(A) 1948 (B) 1949 @) . 1950 (D) 1947
o, W T AR A g '
(A) TEHTCH WIS ' [(B) S
(C) SreTe i ATl ‘ (@) TSI SR T
95. s i ST wE T T - 4
Find the next number in the series : - @
57,43,29,15, . ®
A) 1 ' ®.2 - ©) 3 D) 0

96. o fi A, B 3t C O Tiemerr Rfeaw & TRt SR e 7w e § i e 24 Fve, 36 Feve 3 30
e ¥ O TR q0 AR £ | o e s s a s iy w s ficfit
(a) sfiFe - ®) 6 U © 8fe Y (D) n2fm
Three friends A, B and C start running around a circular stadium and complete a single round in 24
seconds, 36 seconds and 30 seconds, respectively. After how many minutes will they meet again at the
starting point ? N A :
(A) 5 minutes (B) 6 minutes )| 8 minutes | (D) 12 minutes

97, Qzﬁaﬂté@ﬁaﬁmaﬂw%uﬁaﬁmmﬁw%wﬁ%ﬁtm%waﬁm9:wéaaﬂqﬁ
7 gnft 2 i) )
(A) 403 3t 44 T8 s IR 8)_',323&?31113631#
(C) 447248 ad . @) eadsi4oad
What are the current ages of Antony and Betty if ti&ir ages are in the ratio 8 : 9 now and will be in the
ratio 9 : 10 four years from now ?

(A) 40 years and 44 years : (B) 32 years and 36 years
(C) 44 years and 48 years ' (D) 36 yearsand 40 years
AUT24 TSt e o2 |
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g
.r
-

W

99. ﬁmﬁrﬁgam%ﬂﬁﬁ@ﬁﬁma;%mﬁﬁhazﬂﬁﬁﬁﬁﬂﬁﬁ%l

08. 2r= ¥ ot ey iy ¥ fore R Yo o = T T R s 2

(a) Y@rse (B) ThAI (©) = ©
Which chart type is used to represent the {tjationship between two variables ? '
(A) Line Chart (B) Scatter Plc}t}t (C) BarChat - (D) PieC ke

ﬁ@%@ﬁﬁﬁﬁ?ﬁ%ﬁmﬁﬂ%ﬁ%mﬁéﬁﬁmm@mﬁﬁ)

\ N

 RFTER
T [GAH | 7AH | 32AH | 35AH | 55AH ¥
1992] 75 | 144 | 114 | 102 | 108 | 543
1993 | 90 | 126 | 102 | 84 | 126 |528
1994 | 96 | 114 | 75 | 105 | 135 |525
1995 | 105 | 90 | 150 | 90 [<Is |si0)
1996 | 90 | 75 | 135 | 75 |90 |46s|
1997 | 105 | 60 | 165 | 45 |[420 |49s
1998 | 115 | 85 | 160 | 100 945 605

_mmaﬁﬁﬁa%zﬁ#@ﬂﬁﬁmﬁ%@?

(A) 4AH (B) 35AH (C) 55AH (D) 7AH

The following table gives the sales of batteries manufaénuqd by a company over the years.
Number of different types of batteries sold by a company over the years (numbers in thousands), -,

Types of Batteries
i S
4AH | 7AH | 32AH | 35AH | 5 Totgl ﬁﬁmﬂ.@ e
1992 | 75 | 144 | 114 | 102 | Gbg | 543 [ Lo & wmfw fve
1993 | 90 126 102 - 84 P 6 528 v-;—w; ;p ] {’M"‘- ¥ e ésy
1994 | 96 | 114 | 75 | 105 ?ﬁ 525 |- Sreodane 18 M 10 A1 iw*
1995 10s | 90 [ 150 | 90 | Z5 [sw0] 0 gunx SIS
1996 | 9 | 75 | 135 | 75 90 | 465 | 7 ot St R SRR S v SlE 300
1997 | 105 | 60 | 165 | 45 | 120 | 495 RS 1
STy ]
1998 | 115 | 85 | 160 | 100 | 145 | 605 o ey :
LY i 1 351y
Which battery has the lowest total sales across all seven years ? b el
(A) 4AH ~ (B) 35AH ~(C) s5AH ' (D) 7AH
AUTH R T T R e T
.
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101.

102.

103.

104,

105.

106.

00, 3R MANFIERM, NFrag?)
M-NFIFEM, NFTHER)

MXNHSTFEM, NR ¥R
a}ﬁnﬁﬁaﬁﬂaﬂqma‘a‘uaﬁm%ﬁ?xxmw%ﬂﬁxwﬁiﬂgw%? - -
(A) YXZ+X (B) ZXX+Y € XXZ-Y (D) XXZ+Y
If M + N means M is the sister of N. e '

M - N means M is the brother of N. I3

M X N means M is the daughter of N. ]
which of the following shows the relation that X is the fodternal uncle of Y, where X’s gender 1s male ?
(A) YXZ+X (B) ZXX+Y ( ’*sz Y (D) XXZ+Y
P,QFWER, ARATEARI S, TH R AT, Qﬁl?rﬁ"’f“éls Q& fr Tm Tafra & 2
(A) * wdtsT Ll © (C) == (D) St

P is the brother of Q, who is the sister of R. S is the brother of T and T is the mother of Q How is S related
toQ? : ;
(A) Nephew (B) -Uncle ° (C) Aunt (D) Niece

3 JUNE — 10- 21 - 14 - 5,3 JULY €T _
If JUNE = 10- 21 - 14 - 5, then JULY will be G
(A) 10-8-23-25  (B) 10-21-12-25 (C) “14-12-8-10 (D) 10-21-8-23

e f gaaﬁwaaaﬁvﬁﬁamﬁmmngcmml 30 s < oo o g v e Y i

Frawie? f)
@A) swatm - (B) SW@ }Eﬁmqu (D) Efiw-lfa‘
"For a clock with 9% hour hand pointing towards the & lhe hour hand at 1:30 points towards which

direction ? .
(A) North-West (B) North-East (C) South-West (D) South-East

3fe e it e, FTaR AT, TRaT i 78 3 © 3 Shifed fma st 8, 6 ofam i ga wer it
(&) I ® a7 (O TR, (D) A

If Sunday is coded as January, Tuesday as March, Thursday as May, then Saturday will be coded as :
(A) August ®) April (CitJuly (D) June

et T EST Y § S TR § ST A zﬁtﬂﬂﬂ@ﬁ%&ﬁﬂﬁ%ﬁﬁaﬁr%?

(a) Tt (s (B)_ o @ o (D) FEREm
"Clock" is related to "Time" in the same way as "Map" lighrelated to which of the following ?

(A) Location (B) Travel (Cg)Vehlclc .. (D) Cartography
uﬁwﬁrﬁﬁﬁm%aﬁwmﬁtﬁa%aﬂtaﬂﬁw%ﬁmw%éﬁﬁm@ﬁw% AR
(&) ez (B) Aumd T

€ wfrasr ~mD) ﬁ@ﬁwﬁrﬁww

If Mani is taller than Tony but shorter than Deepak and Tony is ]ust as tall as Mohan but taller than Gokul,
then Mohan is :

(A) Shorter than Tony " (B) Taller than Deepak _
© Shorter than Mani " : (D) Just as tall as Mani 3|
AT R . ) T L Ve Y
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107.

108.

109.

110.

111.

112.

frafafaa & § smrm den @ At : v (3 W AT T
Find the dissimilar number from the following : i (M
16, 256, 64, 624, 1024

(A) 1024 (B) 256 e (C)ii 64 (D) 624
frafeRaa § @ srme g g il ; \ | | god
Find the dissimilar number from the following : g

1331, 2197, 4913, 5832, 6859
(A) 1331 | (B) 2197 ['QC) 6859 (D) 5832
uﬁ:@nﬁmaﬁmmomm%ﬁﬁmﬁ@w%maﬁﬂﬁ% g : 6
(A) @ B) Ffwre &c) = (D) T
The renowned mathematician lcnown for dlscovenng the sum of the first 100 natural numbcrs is

(A) Gauss (B) Euclid (©) Newton (D) Pythagoras =

forferfiaa & & 545 X 545 — 125 X 125 F7 ARG FTR ?

Which of the following is the output of 545 x 545 — 125 x 125 ? S
(A) 285400 (B) 281400 (C) 287500 (D) 286500

A,B,CD¥mT G Ea R E| A, C KB, lﬁ@?ﬁ%in C%aﬁaﬁt%ﬁaﬁﬁzqﬁﬁaﬂt%lﬁ
pwigfrman? i

(A) e ® s @C) afim o wE

A, B, C and D are playing a game of Carrom. A¢C and B, D are partners. D is to the left of C who is
facing east. Then D is facing : g ' - ., .
(A) South (B) North ‘Z“’IC) West © (D) East .

ﬁmﬁl@aq@wﬁmﬂt@mmaﬁtw&:ﬁ%ﬁqﬁqwmmﬁﬁm
CSI1%ET21'@I*#@AT* #>8U> |

af2 s 1 T I Seie R S 8, A foratt Hesit 3w U o T g 2

A 0 (B) 2 s, (©) 3w D) A=

Observe the following series carefully and answer the question that follows P 3
CS$1%E721!@I*#@A7* #>8U> - . o

How many numbers are followed by an alphabet if, &p second half of the series is reversed DT
@) 0 ®) 2 i (R
113. R 2016 T RT3 s 35 et S I i Ak
India’s Gross Domestic Product (GDP) grew by in the quarter ending September 2016.
(A) 80% (B)-8.5% EEC) 9.0% - (D) 73% '
114, q&mmgﬁmwﬁmmﬁw%v g i o
(A) 4fe25dFe 35) 6ﬁ=|315m
(€ 8fFe208FvE ' Y (D) 2T 30@FIS
The light from the Sun reaches the Earth in about how much time ?
(A) 4 minutes 25 seconds ' ' g (B) 6 minutes 15 seconds’
(C) 8 minutes 20 seconds ¢ : (D) 2 minutes 30 seconds
AU DEEREEEE . -'"p}.;,;'f-.r'afii""""""'""""""""'"“"“ ""


https://v3.camscanner.com/user/download

116.

117.

118.

119.

120.

121.

TG T SRR 61 T Yot 351 ST et & | 9 ot f6e 291 3 07 ¢ ST & 2

(A) TRz femen (B) FATT

(€) Hgfer (D) ¥qes T AT

The Indian Constitution provides for a parliamentary system of government. This system is based on the
model of which country ?

(A) United Kingdom B) Canada

(C) Australia 44D) United States of America

MPC &1 0 &9 2 &

(A) W difert s 83) AfET e HRRA

(€) Wt wm i AD) Tzl diftreh H

The full form of MPC is ®

(A) Money Policy Committee

(C) Monetary Pricc Committee

fa7a oz e ot i & 2

(A) TR F fEr

(€) NgTeFfam

The book Vinaya Pitaka is related to :

(A) Thoughts of Zoroaster

(C) Rules of the Buddhist Sangha

GDP 221 & ot N IR F F ferg d-an
(A) T waeE

(C) wwelta wfenqfar ik fafr =i (SEBI)

®B) Making Price Committee
(D) Monetary Policy Committee

(B) WeTeR & 5w
(D) & TR

(IB) Preachings of Mahavira
3£D) Sanskrit Grammar

e 2

B) TS wifteaeh! Fraterd (NSO)
(D) Wt fiwrel =i (RBI)

Which Indian organization is responsible for calcul@ng and releasing the GDP data ?

(A) Ministry of Finance

(B) National Statistical Office (NSO)

(C) Securities and Exchange Board of India (SEBI) (D) Reserve Bank of India (RBI)
TH-A1 &6 @S TS I9ITE “FEH U afmie foe ¥ e aRg 2 2

(4) frideem (B) WA

(©) WIRRATER (D) SARHR =D

Which Russian author is famous for writing the psychological novel “Crime and Punishment” ?

(A) Leo Tolstoy (B) AntonChekhov  (C) Fyodor Dostoevsky (D) Vladimir Nabokov
At ) qerar FT R 2 3

(A) FHig (B) Wehe $¥C) fm (D) frafem

What is the capital of Laos ? ]

(A) Kathmandu (B) Muscat 80) Lima (D) Vientiane

PR G Tt 3 g it qEigenta SR & fogiiem ® o

(A) fegammgTT (WT0)
(©) dwisa fiverm & (BIS)

@) s gz i (IMF)

(D) s

Which organization is responsible for smooth and predictable trading across the nations ?

(A) World Trade Organization (WTO)

(C) Bank for International Settlements (BIS)

(B) International Monetary Fund (IMF)
(D) World Bank

a=
-------------------------------------------------------------------------------------------
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. ST ¥ WS B R SHugd e ?

122
What is the GST rate on mobile phones in India ?
(A) 5% (B) |2f/¢'} ©€) 18% (D) 0%
123, e ot P e £ 2 %
How many members are there in GST Council 2
(A) 30 (B) 33 £ (©) 40 (©) 25
(24, FTEI T TEAT TOTHTR 2 8
(A) & QST H =1 AT «» (B) mw{gqr
(©) T e g (D) wwe G
What is the first step of research ?
(A) Selecting a problem (B) Finding a problem
(C) Identifying a problem (D) Searching a problem
(26, 18 T8 A FH 3 % AfR & Tt AR FEARE |
(A) TaARER  (B) FRw iR © wrphafmr (D) T SRER
All human rights of a person below the age of l@rcars are known as .
(A) Child Rights (B) Special Rights 3 (C) Legal Rights (D) Human Rights
126. e R g A S off 2 g '
(A) T 2004 (B) sH2004 (O (C) 2006 (D) §TE 2002
" When was Micro Irrigation launched ? 3
(A) March 2004 (B) January 2004 ® (C) January 2006 (D) March 2002
127. Ba e o Al s a3 2
A) F=(TTT (B) Tesaw (C) oies o (D) L ¥ TH
What does the acronym ‘“TBT’ stand for on social media ?
(A) True Blue Tuesday (B) Today’s Best Thing (C) Throwback Thursday (D) Text Back Time
128. CRISPR-Cas9 Sreifireht &1 39 36 forg foram sman 2 -
(A) S ERA 401: (B) TSGR T EFTT
(Q FT I T A o (D) As
The CRISPR-Cas9 technology is used for: ]
(A) Editing genes (O (B) Synthesizing new materials
(C) Detecting earthquakes g (D) Creating vaccines
129, T A feaw 2004 Tl (fim w12 ? @
(A) s 3t e = : g vea (B) Haa fufdm
© it ffdr  forq 7% shenfheat (D) Tl ¥ e F1a
What is the theme of ‘National Maritime Day 2024’ ?
(A) Navigating the Future : Safety First (B) Sustainable Shipping
(C) New technologies for greener shipping (D) Amrit Kaal in shipping
T e A+ (1) e e .
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130.

131.

132.

134,

it

@_m@.ﬁmmwg@mm%?

() FTETAFH I O
@) e (rawen 3R Fvem frredio et w0 % fig
(© ifem dwen g & oy {$
(D) TR F TR T & Rig (]
What is the main goal of a pre-trial conference Er)}
(A) To conduct jury selection ®)

(B) To prepare for trial and discuss settlemen(@ptions
(C) To render a final verdict
(D) To dismiss the case

mm@ﬁ?ﬁﬁ*mwaﬂﬁ%w&wﬂmﬁ-ﬂﬂmﬁmaﬁw
0 7 et o1y YR & AR T T wE
(A) FrrdfE (B) &M #r | (C) #fezwe dandt (D) wrw-uwh

is the act of intimidating, harassm:gl]t. defaming, or any other form of mental degradation
through the use of electronic means or modes s% as social media.

(A) Cryptojacking  (B) Identity theft [ (© Creditcard fraud (D) Cyberbullying

R i s St 1 ST 2 s iraer soetvte ezt v v«
(A) TETHE AR ATFI #WH & f e P@gT L |

(B) &AL, ST 39 e Fyepra ) i @ |

(C) & afis il wdt =t Frifra T @ |

(D) TEftaRe NeRal @t wirenfa ward )

What is the role of artificial intelligence (AI) in shaping future global economies ?
(A) Itwidens the gap between skilled and unskilled workers.

(B) It drives innovation, productivity and eoo&gmic growth.

(C) Itregulates global economic slowdown. +

(D) Itreplaces all human jobs. &

mﬁmm%mﬁmwwa%mm: :
(A) Qg1 (B) W #  (C) IEHRER (D) =m

The first successful instance of Satyagraha led %Mahatma Gandhi in India was :
(A) Kheda (B) Bardoli (C) Ahmedabad (D) Champaran

A Bt St fovards sy foerr e o1 2
(&) fra fiem (B) Seratare smT TwiER
© Triw (D) |IEHA FHfter

The Quit India Movement was launched in response o :
(A) The Cripps Mission (B) The Jallianwala Bagh massacre
(©) The Rowlatt Act (D) The Simon Commission
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(35, T R 6 10 Qs ¢ Tl 5t o s it 3 b, e a s o oot syttt

136.

137.

138.

139.

140,

141.

----------------------------------------

FAIR?

(A) TR 2 (B) T3 ©) R4 (D) ¥ |
Which Article of the Indian Constitution provides for the formation of new states and alteration of areas,
boundaries or names of existing states ?

(A) Article 2 (B) Article 3 (C) Article 4 (D) Article 1
wﬁmﬁaﬁﬁﬁwaﬁwmﬁim%aﬂmﬁﬂﬁmﬁ T FA A E |

(A) ®) W W (O e (D) ¥ma

Rabi crops are sown in winter from Oc{ober to December and harvested in summer from April to
e ] '

(A) June (B) May [L, (C) uly (D) August

TEi TR TR RE A ) i
(A) i e bt et s ®)

@) faiia aom =t fafafia s
(C) ahare-fatrt 3t sragwor-fartiedt v s
(D) ATYET A FHAl HI YT FHAT

What is the purpose of the National Security Guard in India ?
(A) To oversee border security

(B) To regulate the financial market

(C) To conduct counter-terrorism and ann-l|1_|ackmg operations
(D) To manage disaster relief operations -,

ﬁq%ﬁqﬁﬁﬁaﬁq-mmg@mﬂmaﬁ%%qﬁwv
(A) TR IRIEES (B) HINA (] C) TReANE . (D) FEH ARG

Which of the following substances is primarily responsible for acid rain ?
(A) Sulphurdioxide (B) Methane = (C) Nitrogen gas (D) Carbon monoxide

aﬁqm%mmwmaﬁmmﬂaﬁwﬁ?*% ?

(A) ot ® wr D (C) RmomdE ©)
Which country is the world’s largest producer of wind power ?

(A) Germany (B) Bhutan (C) South Africa (D) China
WA % ITIGAFA 1 & (7 2024 TF) ?

(A) ft. T, T fard (B) it wq, I TG

©) itz yae (D) T aEs

Who is the Vice President of India (as of June 2024) ?

(A) Sh.M. Hamid Ansari (1 "(B) Shri M. Venkaiah Naidu

(C) Shri Dharmendra Pradhan " (D) Shri Jagdeep Dhankhar

2016 3 TEaTERe RA-STTH T TOH1] FHE H1 S R 2

(A) TR it 3 AT R ey l |

(B) TCHIY[-Hh & ot TG

(C) TV SRt 1 I forr “”

(D) Fritfc o] i, Seifeft gteror pﬂtgmmaﬁaaﬁm

What is the purpose of the Indo-Japan civil nuclear agreement signed in 2016 ?

(A) Ban on nuclear energy usage

(B) Establishment of a nuclear-free zone

(C) Joint development of nuclear weapons

(D) Cooperation in civilian nuclear energy, technology transfer and safety standards
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foret 868 % ot iR aTER T o e v e

(a) IR (B) S () fmm (D) @™
Movement of people in and out of an area is called : \

(A) Deathrate (B) Birth rate (C) Growth rate (D) Migration

e qRem faafaamea (AMU) i e frg ad imd oft 2
In which year was Aligarh Muslim University (AMU) set up ?

(A) 1877 (B) 1875 (C) 1901 (D) 1920
TR T T BT e et ot s ey o e aet e weaml % for STT v & 2
(A) () YT (© Frg (D) T

Which city in Uttar Pradesh is known for its cducation@ilmilutions specializing in Hindi and Sanskri

languages ?

(A) Varanasi (B) Prayagraj (C) ganpur (D) Lucknow
m.mmmmmmwmmagmmm%ﬁm 1998 & anfifes fargm §
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(A) FRSER (B) WA Rig (C) TEWTH (D) w7

Which Indian economist is known for his work on welfare economics and received the Nobel Prize in
Economic Sciences in 1998 2

(A) Jagdish Bhagwati (B) Manmohan Singh (C) RaghuramRajan (D) Amartya Sen

146. < I form e 7 fort 2
(A) ez (B) S oferre - (0) iR (D) Weiie F=
Which author wrote “Jane Eyre” ? HH
(A) Emily Bronte (B) George Eliot (C) {Anne Bronte (D) Charlotte Bronte
147. ™R R YRE GEREE R | [
(&) ®) w © S (D) THTHTE
Twitteris a based communication platform. @2
(A) Email (B) Chat ) ©tp (D) SMS
148, e fergera ot frw A0 S e T F@T R 2
(a) = (B) wIfFH (C) warRw (D) A9TA
India shares the Lipulekh Pass with which country ?
(A) China (B) Pakistan (C) Bangladesh (D) Nepal
149, 2for it # F-ef g1 8 S feean ST R 2
(A) W ®) fife ©) %ﬂ ®) W
Which currency is in use in South Korea ? O
(A) Won (B) Ringgit (C) [Huan (D) Yen
150. m%ﬁ%mﬁwmmmﬁfmmﬁmﬁm?l
(A) TEEW (B) WIERAT (C) @ Rin (D) BRI
_attack is where a computer system or network® infected with a computer virus.
(A) Hardware (B) Malware (C) Phishing (D) Software
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